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Section - | (English)

Q.No: 1 Choose the correct part of speech for the underlined word in each sentence.

She bought a colourful dress.
Verb
Adverb

Noun

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Importance of Physical Exercise

Regular physical exercise is essential for maintaining good health and well-being. It not only helps in keeping the body fit but
also contributes to mental health. Engaging in activities such as jogging, swimming, or playing sports enhances
cardiovascular health and reduces the risk of various diseases. Additionally, exercise stimulates the release of endorphins,
which are known as "feel-good" hormones, promoting a positive mood.
What is one benefit of engaging in activities like jogging and swimming?

Increased disease risk

Cardiovascular problems

Mental health deterioration

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:


https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/view_Challenge_items.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/logout.aspx

The Importance of Physical Exercise

Regular physical exercise is essential for maintaining good health and well-being. It not only helps in keeping the body fit but
also contributes to mental health. Engaging in activities such as jogging, swimming, or playing sports enhances
cardiovascular health and reduces the risk of various diseases. Additionally, exercise stimulates the release of endorphins,
which are known as "feel-good" hormones, promoting a positive mood.

What are endorphins, as mentioned in the paragraph?

Hormones causing illness

Hormones leading to fatigue

Hormones associated with stress

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Importance of Physical Exercise

Regular physical exercise is essential for maintaining good health and well-being. It not only helps in keeping the body fit but
also contributes to mental health. Engaging in activities such as jogging, swimming, or playing sports enhances
cardiovascular health and reduces the risk of various diseases. Additionally, exercise stimulates the release of endorphins,
which are known as "feel-good" hormones, promoting a positive mood.
According to the paragraph, what does regular physical exercise contribute to?

Mental stress

Cardiovascular problems

Disease risk

Q.No: 5 What is the synonym of "Abundant"?
Limited

Sparse

Scarce

Q.No: 6 Choose the correct option that completes the sentence logically and grammatically:

We decided to go for a walk the weather was pleasant.

but

and

so

Q.No: 7 What is the past tense of "run"?
running

run

runned

Q.No: 8 What is the singular form of the word "children"?

childs



Childes
Childen

Q.No: 9 Choose the correct part of speech for the underlined word in each sentence.

The sun sets in the west.

Adverb

Verb
Adjective

Q.No: 10 Choose the correct punctuation for the following sentence:
"My sister, who lives in Mumbai ___ is visiting us."

apostrophe ()

colon ()

comma (,)

Q.No: 11 Choose the correct term for "A place where books are kept for public use."
Bookshelf
Archive

Building

Q.No: 12 Fill in the blank with the correctly spelled word:

The___ was very nostalgic.

Occassun
Occasion

Ocassion

Q.No: 13 Choose the correct article in English grammar, that completes the sentence:

There is apple on the table.

‘

the
No Article Required

Q.No: 14 Arrange the following jumbled sentence into a coherent order:

A. She
B. The

C. Park



D. Goes
E.To

F. Everyday
A-F-B-C-E-D

F-A-D-B-E-C
F-B-C-D-A-E

Q.No: 15 Identify the sentence in the PASSIVE voice:
The gardener watered the plants.
The birds sang a beautiful melody.

The flowers bloomed in the morning.

Q.No: 16 Choose the option that best represents the antonym of the underlined word in the sentence:

The teacher commended for her meticulous work.

Precise

Thorough
Diligent

Q.No: 17 Choose the correct meaning of "ephemeral".
Lasting for a short time

Fragile

Foul-smelling

Permanent

Q.No: 18 Choose the correct part of speech for the underlined word in each sentence.

Her cheerful demeanor brightened the room.
Adjective
Adverb
Verb

Q.No: 19 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically.

He is adoctor, ___?

isn't he

is he

does he



Q.No: 20 What does the idiom "hit the nail on the head" mean?

Build something

Miss the target

Hammer a nail

Q.No: 21 Choose the correct option that completes the sentence logically and grammatically:

I ran | was afraid.

and
S0

but

Q.No: 22 Which sentence is in the past continuous tense?

| studied for the test.

| will study for the test.

| am studying for the test.

Q.No: 23 Which sentence is the ACTIVE voice version of "The letter was written by me yesterday"?

The letter is written by me.
| was writing a letter yesterday.

Me wrote the letter yesterday.

Q.No: 24 Which one of the following sentences is punctuated correctly?

She went to the market to buy some fruits?

She went, to the market to buy some fruits.

She went to the market to buy some fruits.

Q.No: 25 What does the word "vibrant” mean?
Lively

Faint

Muted

Dull

Section - Il (Odia)
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Section - 1l (Arithmetic)

Q.No: 51 The ratio
of A's and
B's ages
is 3:2. If
the 6o g %
g'f{efence AR B o @nd agdie 3. 2 | 99 eUrIew @Eld FRIEE di2ieY 6 @F, A O @Ed 68667
etween
their ages
is 6 years,
what is
A's age?

21 years 2108




12 years 12 Q4

AN52 10 o standard deck of 52 cards, whatisthe 52 @Idq 9@ QIS 669, 69 RIS (GYIR, QI4T, BY QIS
probability of drawing a face card (jack, queen, . N E: ¥
or king)? I2I0 AESIQ AAISR! 6R6E7

1/13 1/13

1/26 1/26

3/26 3/26

3/13 3/13

Q.No: 53  If a person walks at a

speed of 5 kilometers per (1@ QE4l Q4@ € O 5 PERITITR 6RTER GIME, 6662 15 FEMITTR TIRAIT
hour, how long will it take

to walk 15 kilometers?(n 626G A¢IE RIGIE? (In hours)

hours)
2 2
45 45
.. =
1.6 1.6
QNo: 54 girie oMl @6l :
i 1
2 3 B

3

i vl =
.+.

| L\Jmi

i v [ora] wie

QNS5 it the cost price of an article is Rs.80 and the 9@ 9% 99de @ g 80 el 99° Sge ¢ 100 OF,
selling price is Rs.100, what is the profit

percentage? CEES Miw ‘Q@@G‘ EREG?
35% 35%
30% 30%
20% 20%

Q.No: 56 Person A incurs a loss of 20% by sellin = = — =
on article for Re.4000. At what prive | @@ A G619 4000 62 9@ 9412 §90 @5 20% §6 @62 |
should the article be sold to earn a 20%

orofit? 20% @lf 299l iR 99y 6960 (JRiee 88 @aldel 2587



Rs.5600 Rs.5600

Rs.5000 Rs.5000

Rs.6200 Rs.6200

Q.No: 57 \what percentage of 150 is 90? 150 & 90 9696 69667
80% B80%
w

75% T5%

50% 50%

Q.No: 58 |f A and B together can complete a piece of QG A99° B4 15 THE696° B RI@1 20 Ga66 4@ Qidy asig
work in 15 days and B alone in 20 days, in how

many days can A alone complete the work? @ELIeE, 6669 6066 U CrIGE: A 9gEEl @Iy ge1g @aIRe?

20 days 206G

oo
30 days 3066
40 days 40 @4
Q.No: 59

A shopkeeper sells a dress at a loss of 15%. If the cost @eesl 60l@la1 15% @ e " euliglw @ﬁ %ﬁ [
price is Rs.700,what is the selling price? EI@ @El qj;w 700 o'l ﬁ‘ﬁ'ﬂ ‘?lﬁ-l'-l ceeg?

Rs.695 Rs.695

Rs.455 Rs.455

Rs.625 Rs.625

Q.No: 60 Fi o

ind the LCM of 6, 9, and 15. 6,9 «9° 150 LCM €657

18 18

18 18

18 18

Q.No: 61 A cricketer bowls a ball at the speed of 99 T4 GERC0 G4l 96 99 GenIfioa 6eG60 I O SRIR° @83 | 30
km/hour. What distance will the ball cover in

30 seconds? HHGHE6E Qn) 6@60 ol PG @hie?
[
300 metres 300 £'Q)
800 metres 800 {ig'al

990 metres 990 £2'al



Q.No: 62 The mean of 25 numbers is 36. If the .
mean of the first 13 numbers is 32 and 25 m@} El(gj Em 36. 6@ gaﬂ 13 Q%Q EIEI 32 \{]EI 5‘51"3 13 Q]u{al“”ﬂ

that of the last 13 numbers is 39, find the 39 EQ‘E}E, CROG 12 00 QoY o &
13th number?

35.5 355
S e
36 36
23 23

Q.No: 63 | In a class, there are 45 girls and 27 ~ ~ ~
boys. What is the ratio of boy to @ 6466 45 vdl Qiewl e° 27 ¢l 2gs | gZio GaQ 2AgUIe 6w60 ?

girl?
5:9 5:9
I
5:3 5.3
9:3 93

QNo: 64 The ratio of numbers of girls and boys ' qg GoYIEEA GIRIER NGl EREEE! ARG 18° QIRGFING 2°EY 6908 4: 5
participating in sports of a school is ;

4:5. If the number of girls is 108, | Q8 ZEOIGE 4G 108, 6649 Flelett Wbl 6hEET| ekt <6l aa
determine the number of boys
participating in the sports. {;}G@ |

72 72

60 60

84 84

54 54

Q.No: 65 If the principal
amount is Rs.1000,
the interest rate is 5%

er year s . - = e
2on¥pounded da ¢ docliel 69 1000, eoee Qg STIE Gl ZN 2% 2eg, e ae1a 29

annually, and the time b x —
period is 2 years, 72 99, 2 @f deQ 6016 dailldl 6mee 62a 7

what is the total
amount after 2

years?
Rs.1000 Fs5.1000
Rs.1200 F=.1200
N - o
Rs.1100.5 R=.11005
QNo785 The average of five numbers is 40. If one LUSIT IZ G 620F 40. OF COIT LI 2BGS DI,
number is included, the average becomes 50, — -
what is the included number? LILIG 50 eLImL, ElBpe 476N 6Ree”?
0
40 40
60 60

50 50



Q.No: 67  If the principal
amount is
Rs.1000, the
rate of interest
is 5% per = _ e i
o and the | 9@ €)@ QI 1000 G, el FIQ FITFR 5%, N9 40K 29y 2 9F, AR Ful 6667
time period is 2
years, what is
the simple
interest earned?

Rs.10 Rs.10
Rs.100 Rs.100
Rs.150 Rs.150

Q.No:68 Inaclass Out of 75 stu_dents, 40% are “Jar Ggldllott 75 el Blitk vielfl 40090 D666 Wnt | pflEictl Wi 29
good at English. What is the number of

students who are good at English? Bletlibe "6l Swn?
29 28
w
26 26
25 25

Q.No: 69 A builder appoints three construction
workers Akash, Sunil and Rakeshon @64l TREE GIFE 66T~ ARGEE BEaE HAIA ¢ BRI, 901m 9g°

f his sites. They take 20, 30 and o o i -
60 days respectively (o do apiccoof | Q628G B 963 | 6AFI6R IR QIF QARIG BENGSH 20, 30 16° 60 A9

work. How many days will it take SimE o
Akash to complete the entire work if he GEE | 99 9B Rk GR6E! &'l 997 CllbTel e <lsidy a2 666

is assisted by Sunil and Rakesh every  EliGIEIG E]ﬁﬁj alcly a1 FhQly 6566 GF MITa?

third day?
10 days 10&g
15 days 15 §¢
25 days 25 GG
30 days 30 &9

QNO:70 gy AAMKE F9G -
5+3x(6+2)= 5+3x(6+2)=

11 11

e

24 24

° 9

Q.No: 71 Reena is 12 years old. What will her age be in 5 years? Qe 12 o8 @gd | ole @eld 5 FHECE 6RER 6297

7 years 709



15 years 15 o6

8 years g ad

Q.No: 72 What is the probability of getting 6 while rolling a

dice? Y@ glad Celael 4eIKen 6 dinQla daleql 6mee
1/6 1/6
0 0
1 1

Q.No: 73 Which of the following is
the Highest Common

Factor (HCF) of 12and | @ImEIS FIQ 6896 12 99° 18 0 659 AkIQd qaatas (HCF) 216e?

18?

3 3

2 2

9 9

QNo:74 g ORINDE F9G
3 3
L 22

6 6

5 2

6 6

6 6

9 9

4‘ 4‘

9 9

5 2

QNo:7S gy AORIGDE G9G
18+{4+2)x3 18+(4+2)x3

19.5 13.5

P B

10.5 10.5

Section - IV (General Knowledge)




Q.No: 76 Who was India's first Chairman of the Planning ]
Commission? wWoee cdlael ZleLlola gelel Tied e clem ?

- - I

J.B Kripalani 68 @ @ﬂ]ﬁl[ﬁ
Sardar Vallabhbhai Patel "-21’5‘3‘& LlRlE @l d6%'m
Dr. Rajendra Prasad @%a Gl Y4lw

Q.No: 77 What is the total literacy rate of Odisha b
as per the census 2011 (approx.)? 2011 @aslElial EJ‘@EHEH Bedla 67l diFae wic [‘Ell‘%dl‘alﬁj] 6eE”?

73% 73%
55% 55%
80% 80%
Q.No: 78 . L e o
Which of the following is equal to force? QGO F1UQ ERVT W YT IA]?
Mass * Time RS * AL
Mass * Distance ﬂ@?ﬂ@ % g@@|
Mass * Velocity *EJ@QI@ x ‘E}@EG‘Q

- I

Q.No: 79 | Indus Water Treaty (IWT) is

signed between which of the A 89 §@ (IWT) &¢I RS FrIG 629 9B 624 FIIER YTES 6RIDERI 2
two countries?

Myanmar & India Fzlicle 9e° QIee
Tibet & India GR6 1e° WIeg
Nepal & India eadie v19° Glag
Q.No: 80

Where is the Headquarters of the World Bank situated? @5] QYImel €6 RIAIFL ERR0IEQ ARG ?

New York “ﬁ"@' El‘é\

=

Zurich EQQ
Geneva @G



Q.No: 81 Who among the following is the first o - i i P
recipient of the Nobel Prize in Peace from = @¢Jm@le F12IQl @] €IS dim QURGT QEf] 6T16aR JoRia Q65! ?

India?
Kailash Satyarthi cawIel asiell
Mother Teresa 7196 66604l
Jon Fosse 6alq 67169
QNO82  Article 123 of the Constitution of India deals with: QIR AR MGl 123 686 TR AgES ?
Ordinance-making power of the Judge TN 2IEad Flo Keel s
Ordinance-making power of the Prime Minister QIR AR 2UIETd §I8 f59 IAS|
Ordinance-making power of the Governor QIRITIRE 22T TG K0Sl IAC!

Q.No: 83 Classical dance Mohiniyattam originally pg e It -
belongs to which of the following state? Sl Q‘S‘E SrllERle' ] ?lﬁ?@ﬂ ‘E“{]ﬁl‘ﬁj‘a ‘F‘I‘ﬁ@ 6E QUEie 269

Odisha B4l

Gujarat gEale
-

Assam 2l

QN84 \yho invented blood groups? o= gfid @ QBIee E"ﬁ{?ﬂﬁﬁl ?
William hook GRae ae

Charles Babage SIq Ql6aq

Markoni clleR@

QNo: 85 ey e " FoRge 2agee MR 6aee ZRMa 69N ZIGER FARYRI?
-~
Helsinki cRmaGE

Beijing 6aa°

New Delhi QRIGR!



Q.No: 86

Which of the following is a mammal? ‘ﬁ‘ﬂ ﬁﬁ!@ clalgl CREGC DRUTI Zl6E ?
Birds a1l
Snake il
Crocodile Felsl

QNo:87 Contribution to which field is honoured 6“?@? 653‘:_3,‘6‘61 Qe ‘E]I‘E‘EG‘IG‘[ Q[EQG: Times q%E’EE 66l Qﬂtﬁ'ﬂ" el
by Dadasaheb Phalke Award? Qo2 ?

Sports 1%
N

Science (Al

Literature efialal

Q.No: 88 Which is the outermost layer of the Atmosphere? ﬂﬁg@ﬁa QI':?'-IE@ Ll E."Ei‘é)y‘:afl 2
. E&X

Mesosphere SalelEtal]

Exosphere 162139

Thermosphere eleFIRaa)

QNO89 \\hich famous Sanskit poet wrote Gita Govinda? E@F@?rﬂ@ﬁ‘ e @@ Q10 6aIER R Q@Eé@ﬁ ?

Premchand egrlow

Kalidas =llainle]

Goswami &SN
I - <

Q.No: 90

: joined t_he Competition Commission flml I 991 Glagl, 509491 60 Witist eerdieis]
of India as Chairperson on 23rd May 2023. 2|I6ClGa 2iid| QIES SLlEl Saam

... ==

S.L. Bunker \'E‘El. ‘5]'11_11. ol




M.L. Tayal N9 mL Gllim

Devender Kumar Sikri U6 g7lial ﬁﬁl

Q.No: 91 Mount Harriet National Park is situated - - — —
in which of the following States/Union AL e TP BT E9@ QITY/Eg JIYe UASREa WS

Territories?

Odisha BEaI
West Bengal QEQ QT
Andaman and Nicobar NSNS 19° FERIa

Q.No: 92 The Chilika lake is situated in which of the following @ﬁﬁ-ﬂ 26 @aﬁ?ﬂ@ EE"‘E&“’H aleyea EQ§G7

states?
Uttar Pradesh BEDIT Wl
Karnataka ‘EP@G‘@'
Bihar @@ia
Q.N0:93 ' \what is the minimum age for voting in India? WINPT SRl EQFIR aq @a QY 6meR ?
| &
20 years 20 @‘ﬁ
22 years 254
21 years 21 G"ﬁ
Q.NOZ 94 . . . — ~— . ah— A
Which of the following is the full form of UNHRC? QWSS F12Q 6QLT UNHRC @ I TA1?
United Nations Human Rights Council PERNDELE 6GEUGY UG QRS RDGAR
e e
United Nations Human Rights Cooperation PEINDELTE CTUTY YU QNG 6@ITUCTIY
United Nations Human Rights Commissioner DERIPETE 6YRYd BT SIWTY @ﬁﬁ]%
Q.No: 95

Which of these organizations releases the Annual |~ G¢ImGIE 2°AIGER CIXIQ @9 A°Yl 604l Joeq 16 209
Corruption Perception Index ranking of countries

by their perceived levels of corruption? Qe @@ Qe go18 aQuIedl 961 aIal @ad ?

World Trade Organization g‘ﬂ QIEIRY A°GI0R



Transparency International glg disagl w9 6o

World Bank g‘ﬁ QY

.No: 96 i i i i 2 S = iy o
Q.No In which of the following states, the Sharavati Project Gﬂﬁlﬂﬁ* ‘SEIE“-F‘Q]_@"E? ﬂﬂ@ 6RET6R SRIAGT U9 el L,

is located?
T e
Uttar Pradesh PEQLsw
Gujarat o]l
Maharashtra aEIgg

Q.No: 97 Which among the following o g o i se
activities consumes largest amount = @¢JmlGle @lkdim@icl Cldfl b@ee Zajm Ukl il ah QYeltl @ER”?
of fresh water?

Household Activities gl
- -
Industrial activity sig @Iy

Agricultural activity @ Iy

Q.No: 98 ' In which year an European came to

India for first time through sea 696 GF 9641 LEAITIE A7Q FIIdl 69@ gas 8a dia KIee 2desa ?
route-

1493 1493

1495 1495

1602 1602

ANO=99 o was the founder of Pala Dynasty? AR AIFL°ER 9oRB! & glem ?

Devapala SaeellE

Gopala el

Rampala slediR

e g

Q.No: 100 What is the full form for 'AFSPA' i B e g
that has been in the news ‘AFSPA’ @l gl I @6l e 98 @ 6@nl dejlettl 9Tltl @Rl 6LImE?

recently?

Armed Forces (Special Powers) Act S QARG {@‘Eﬁ@ HE1S) a&é‘gﬂﬂ



Armed Forces (Security Powers) Act eI QITGT (ol NS 2GRS

Armed Forces (Superior Powers) Act LlEld QPR (ﬁ@éiﬁ‘ ﬁ‘?‘]@l] H&J@ﬂﬂ

Section - V (Computer Knowledge)

Q.No: 101 The Mouse was invented by?

Charles Babbage
Thomas

C L Scholes

AIed &9 ATV GaER?
QIRd QIEQ
el

—

@ 9q 62IRQ

-

Q.No:102 | the language of emails, what does "BCC" mean? FEAT VUDIS, “Hag” ("BCC") @ 2iel @7

T e

Backup Communication Copy
Broadcast Carbon Copy

Business Communication Copy

Q.No: 103 ) ) )
What is the major role of a proxy server in

internet and intranet environments?

Control access to web content
Host websites
Provide secure email communication

Manage internal communication

IR FQFERA] 20
SoRI8 R19e 98

Ie6Rd Reufeean @d

FAREHE I18° PEIERE AFERFTER IR 6915 AWAR S RAR
@42

669 909gq AR6aq FUad @03

6218 66Q ARG

YORe BEAM AITNEAIN JAUF F0F

2NN EQINEAT AEAPG @l

Q.No: 104 What is the default alignment for
text/paragraph in word document?

GIC ©QU6AL60 66FC/ANGIT AR BTR AAURFEAL @62

e

Distributed

Center

Right

@8qu6eQ
608Q
UG



ANo=T05 \yhat is the full form of DRAM? G216:10 (DRAM) @ 291 g @612

Dependent Remote Access Memory GEUERE BECIE 2699 6716¢IR

Dynamic Ram Access Memory SIRRITR QU 26T 671651

Dynamic Random Access Memory GIRFIFR QR AETA 67I6FIR]

Q.No: 106 Objects. on the slide that hold text are called 609 G RRES YR 6Q S 9‘%@1@% gRIaN|

Object holders 296t G‘Qlﬁgﬂ
- I

Auto layouts 2l6o emellwy

Text holders 6595 62IRd

QNO107 e full form of ALU s : MAgQ A QA 620E:

Auto Logic Unit Z6g AET HET

Application Logic Unit ZNPEF9R PET SR

Array Logic Unit IS Eiz=stalay

QNo: 108 \ypat is the purpose of an IP address in networking? E,‘QQ@;@“"EQ Y@ P 02410 96994 9'617

Identify a device on the internet PLREET 69 19 FRINY TEC K9G

Manage internet speed 249699 99 AGRIRG! @93
N
Organise email communication LEAR EANEAIT 200 90

— —

ANO10% Microsoft Access isa_______ system. e

Workbook management @F‘Eﬁfﬁ‘@f FMHIETmErIE

Database management

File management



Q.No: 110 | Which of the following numbers is a binary number?

Oand 2
1and 2 12
=
1and3

Q.No: 111 | What are the different Process States in the operating Zgcate Baccs 56e gSala &6 ‘Sjﬁ‘G‘ o'an

system?
New, Admitted, Running, Waiting and Exit 298, 91919, SIRE, 6T 2GR 99° I9GY
New, Admitted, Ready, Running, Waiting, Exit and Terminated geR. PTG, 96, CIRE 260l @GSl J9EE 99° 688
New, Ready, Running, Waiting and Terminated geq, 09%, GIRE Zeasl 98! 99° 68 ead
New, Running, Waiting and Terminated geq, SIE, A60al 9e° 68 6TIaR

Q.No: 112  What protocol is most typically used to receive emails from
a server to a client device?

POP3
STP
FTP

Q.No: 113  What is the main objective of computer security's "Two-
Factor Authentication" (2FA) system?

Increasing screen resolution
Enhancing keyboard functionality

Sorting files into folders

Q.No: 114 What kind of network does Bluetooth represent?
WAN
CAN
MAN

Q.No: 115 | Which of the following function allows the users to see how
the final printed material will appear?

View
Page Layout
Page setup

Q.No: 116 | Which internet communication protocol is used for sending
and receiving emails?



FTP
HTTP
DNS

Q.No: 117 | The first part of an IP address is used as a:
Network Address

Unicast Address

Broadcast Address

Host Address

Q.No: 118 What does an email client's "Drafts" folder serve as?
Organise emails into folders
Archive deleted emails

Store received emails

Q.No: 119 | In computer security, what does the phrase "encryption”
mean?

Sorting files alphabetically
Converting data into a secure format

Increasing internet speed

Q.No: 120 Cursorisa_____.
Touchscreen
Pixel

Scanner

Q.No: 121 | In the context of computer security, what does the phrase
"virus" mean?

A type of computer hardware
A secure way to store data

A computer accessory

Q.No: 122 What is the shortcut key to insert current date in Excel?
Alt+;

Alt +Shift+;

Ctrl+;



Q.No: 123

Q.No: 124 Operating system used in iPhones is:
i0S

Symbian

Android

Q.No: 125 | Which layer in the OSI model helps to define different
communication modes like simplex, half-duplex or full-
duplex between two devices that exist on a network using
the data transmission functionality?

Network Layer

Physical Layer
Data-Link Layer

Section - VI (General Science)

Q.No: 126 PVC, the coating on wires, stands for
Poly vitriolic chloride
Pure vitriol chloride

Pure vinyl chloride

Q.No: 127 is the colour of litmus solution when it is neither
acidic nor basic.

Purple

Red

Green

Q.No: 128 What is meant by Natural Resources Management (NRM)?
Utilizing of resources for industrial purposes

Conservation and sustainable use of Earth's resources

Exploitation of resources for economic growth

Extraction of resources without considering environmental impacts

Q.No: 129 How do you define Matter?



Anything cannot touch
Anything that cannot be seen, felt of heard

Anything that has mass and does not need space.

Q.No: 130 | What is the role of heat energy in generating electricity in
thermal power plants?

Cools down the turbine
Ignites fossil fuels

Directly powers electrical devices

Q.No: 131 | In plants, the majority of the energy acquired during
photosynthesis is initially stored as:

Starch
Sucrose

Fructose

Q.No: 132  The names of the five kingdom systems are
Virae, Protista, Fungi, Plantae, Animalia
Bacterae, Protista, Fungi, Plantae, Animalia

Viruses and viroids, lichens, fungi, plants and animals

Q.No: 133 | What does inheritance from the previous generation provide
to the next generation?

Only Common body design
Only Body Design
Only Subtle Changes

Q.No: 134 | Which of these is a water intensive crop?
Castor
Cactus
Barley

Rice

Q.No: 135 | From where is the information acquired in a neuron ?
Axon

Cell body

Dendrite Tips



Q.No: 136 | Which of the following is the primary cause of ozone layer
depletion?

Carbon dioxide emissions
Nitrous oxide emissions

Methane emissions

Q.No: 137 | A coil with many circular turns of insulated copper wire
wrapped closely in the shape of a cylinder is called

Coil
Generator

Wire

Q.No: 138 What is an instrument measuring electric current in a circuit
called?

Odometer
Voltmeter

Spyrometer

Q.No: 139  Members of Platyhelminthes exhibit
Muscle system level of organization

Tissue level of organization

Organ level of organization

Cellular level of organization

Q.No: 140 | Which one of the following shows the correct relationship in
terms of reactivity?
I —

Q.No: 141 | Of the following, which metal is most commonly believed to
have the highest metallic lustre?

Iron
Aluminium

Gold

Q.No: 142 ' In a blood pressure reading, what does the systolic pressure
mean?

Pressure in veins
Overall blood pressure

Pressure during ventricular relaxation



Q.No: 143 | Solar Energyisa______ source of energy.
Kinetic
Chemical

Non-Renewable

Q.No: 144 How do we define electric current?

It is the time taken for the electric charges to flow through a particular area

It is the distance electric charges flow through

It is the resistance of electric charges while flowing through a particular area
in unit time

Q.No: 145 What is the result when sodium carbonate reacts with
hydrochloric acid?

Q.No: 146 ' Imagine two plant species with closely related DNA
sequences. A new herbicide is introduced in their
environment. One species develops resistance much faster
than the other. This scenario suggests that:

Both factors, mutation rate and selection pressure, contribute to the
observed differential adaptation.

The slower-evolving species must have deficiencies in its DNA repair
mechanisms.

Natural selection plays a crucial role in determining which variations become
prevalent.

The faster-evolving species has a higher mutation rate in its DNA replication.

Q.No: 147 | What is the main purpose of the circulatory system?
Excretion
Digestion

Respiration

Q.No: 148 | What do you mean by reflection of light?
Bouncing back of light
Direction of light

Length of light waves

Q.No: 149 | In sexual reproduction, offspring inherit their traits from




Grand parents
Offspring do not inherit trait from anyone

One parent

Q.No: 150 | What primary cause causes the stomata holes of plant
leaves to open and close?

Water availability in the soil
Presence of sunlight

Photosynthesis rates



